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ctor space has an inner product operation, we call it an inner product vector space
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This is the L2 space (square integrable functions) in [a, b] defined as
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This is a subspace (a subset of a vector space that itself is a vector space) of V and in fact it is r product vecto N
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Triangle inequality: HW/ F‘l ‘
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- A norm operator has exactly the 3 properties listed above.

- Unlike inner product that acts on two vectors, norm acts only on ONE vector

- Any inner product defined a norm (its magnitude operator is a norm) BUT the opposite is not true (Cannot always
define an inner product (space) from a norm (space).
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General definition of a norm:
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For a vector space V, a norm has the following properties
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An example of a normed space that is not an inner product space ’c‘ ) L CQ /
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Coordinates and coordinate transformation:

Linear independence:
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Interpretation of coordinates of a vector in a given orthonormal basis
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